Getting partial to decimals: Decimal differences

For each person find the length of the unmeasured part of their body.
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Getting partial to decimals: Decimal differences

For each pair of people find the difference in their heights.
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This photograph was taken in Egypt
when the world’s tallest man, Sultan
Kosen, met the world’s shortest
woman, Jyoti Amge.

The difference in their heights was an
amazing 1.88m.

What might the heights of the two
people be?

Give three reasonable answers then
check your estimates online.




